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Abstract. The Hermite-Hadamard inequality has been recognized as the most pivotal inequality which has
grabbed the attention of several mathematicians. In recent years, load of results have been established for
this inequality. The main theme of this article is to present generalized Hermite-Hadamard inequality via
the Jensen-Mercer inequality and majorization concept. We establish a Hermite-Hadamard inequality of the
Jensen-Mercer type for majorized tuples. With the aid of weighted generalized Mercer’s inequality, we also
prove a weighted generalized Hermite-Hadamard inequality for certain tuples. The idea of obtaining the

results of this paper, may explore a new way for derivation of several other results for Hermite-Hadamard
inequality.

1. Introduction

For the past few decades, the field of mathematical inequalities has been developed vigorously and has
a great impact in different branches of science like information theory [14], economics [26] and engineering
[10] etc. It must be noted that convexity is the key concept used in this field which gave rise to many new
ideas about research [5, 13, 33]. Furthermore, various classes of the convex functions were discovered and
related inequalities were deduced [8, 10, 18]. Convex functions also have a major role in majorization theory
and many results have been established in this direction. Over the past years, the theory of majorization

has been used as a powerful tool for research in the field of mathematics [39]. The definition of majorization
for two m—tuples is given below:

Definition 1.1 ([11, 39]). Let a = (a1,...,a4y,) and b = (by, ..., by,) be two m — tuples of real numbers and apy) >

ap) = -+ = apu), by = by 2 -+ 2 by be their ordered components then a is said to majorize b (or b is to be majorize
by a, symbolically b < a), if

k k
Y <Y ay  fork=12..,m-1, (1)
j=1 j=1
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and

b;. )

]

m m
aj =
j=1 =1

Maojorization is a partial order relation of two m—tuplesa = (a3, ...,4,) and b = (by, ..., by,) which explains
that the tuple a is “less spread out” or “more nearly equal” than the tuple b. The theory of majorization
helps us to convert complicated problems of optimization into simple problems which can be easily solved
[7, 21]. Some current applications of majorization theory in signal processing and communication can be
accessed in [23, 34].

A lot of work is devoted to the theory of majorization. Khan et al. [5] extended the majorization
inequality for the function defined on interval to the convex function defined on rectangle. In this extension,
the authors considered certain monotonic tuples. Wu et al. [38] gave some refinement of the majorization
inequalities with the help of Taylor’s theorem. They used a convex function whose double derivative exists
on interval and various types of monotonic tuples. Also, a new fractional inequality has been obtained as
an application of the main result. Khan et al. [4] used Green function and Taylor’s formula to generalize the
majorization theorem for n—convex functions. The authors also deduced bounds for some related identities.
In [24], the authors used generalized majorization inequalities to present generalized form of the Jensen
and the Jensen-Steffensen inequalitites. They also gave generalization of a variant of Jensen’s inequality.
Khan et al. [1] extended majorization inequality from strongly convex functions defined on interval to the
functions which are strongly convex defined on rectangle and also obtained its weighted version. Also, the
authors presented Favard’s type inequalities with the help of obtained results. Zaheer et al. [40] obtained
integral inequalities related to strongly convex functions using majoriaztion. For more recent results, we
refer the reader to [36, 37].

The following theorem is due to Hardy, Littlewood and Pélya [22], known as the majorization theorem.
The monograph of Marshall and Olkin [31] also provide the proof of this theorem.

Theorem 1.2. Leta = (a1,...,a,) and b = (by, ..., by) be two real m—tuples such that a;,b; € I. Then
m m
Y o) <Y @) 3)
j=1 j=1
is valid for each continuous convex function ¢ : I = Riff b < a.

The above theorem in its weighted form is given below [27].

Theorem 1.3. Suppose that ¢ is a real valued convex function on I and a = (ay,...,ay), b = (b1,...,bw), p =
(P1,-- -, pm) are three m—tuples such that aj, b; € 1, p; 2 0 for all j € {1,2...,m}. If b is decreasing m—tuple and

k k
ijbjSijaj, fork=1,2,...,m—1, 4)

then
Y piotb) < Y piota)). 6)
=1 =1

In [11] Dragomir proved weighted version of Theorem 1.2 without using condition (4).
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Theorem 1.4. Suppose that ¢ is a real valued convex function on I and a = (ay,...,a,), b = (b1,...,by), p =
(P1,-- -, pm) are three m—tuples such that a;, b; € I, p; > 0 with P,, = Z’f:l pj > 0forall j€{1,2,...,m}. Ifa—Db
and b are monotonic in the same sense and satisfying

m m
Y pjaj=Y pib;
j=1 j=1
then
m m
Y Pl < Y pidlay). )
= =1
As our main results concern with the Mercer inequality. Therefore, in below theorem, we state the Mercer
inequality.

Theorem 1.5. ([28]) Suppose that ¢ is a real valued convex function on I such that [61,02] C 1, x; € [61,62], pj 2 0

forall j€{1,2,...,m} with le]- =1, then
]:

oor-+6:= Y pii) < 000 + 902 - ) o). ®)
= 1

Niezgoda [32] used the concept of majorization and extended the Jensen-Mercer inequality given as under:

Theorem 1.6. Suppose that ¢ is a real valued convex function on I, (x;j) is a n X m real matrix and e = (ey, ..., en)
n

is m—tuple such that e;, x;; € I forall i, j, w; > 0 fori = 1,2,...,n with }, w; = 1. If e majorizes every row of (x;;),
i=1
then we have

m m—=1 n m m-1 n
o [Z ej — Z Z wixij] <) Ple) - Z Z wiPp(xij). )
j=1 j=1 i=1 j=1 j=1 i=1

Another significant inequality is the Hermite-Hadamard inequality defined for convex functions as [19]:
Suppose 9,0 € I such that ¥ < 68 and ¢ : I — Ris a convex function then

9+6 1 0 H(3) + P(6)
o5 )Se——sfs Pl < ———— (10)

holds. The inequality (10) was first proved by Hermite [20] in 1883 but his work was not commonly known in
the literature of mathematics. According to a famous historian, Beckenbach [6], Hadamard rediscoverd this
inequality ten years later. Afterwards Hermite’s note was found by Mitrinovi¢ [29] in Mathesis. Therefore,
the inequality given in (10), is widely known by the name Hermite-Hadamard inequality. It guaranties the
integrability of convex function and gives estimate of integral mean of convex function.

Dragomir and Agarwal [15] formulated an integral identity using right hand part of Hermite-Hadamard
inequality and presented some good results along with applications. Pearce and Pecari¢ [35] proved
some more results by using the same integral identity given in [15]. They also gave some applications to
trapezoidal and midpoint formulas. For further generalizations, extensions and refinements of Hermite-
Hadamard inequality one can see [2, 3, 9, 19].

2. Main Results

In the underlying theorems we give Hermite-Hadamard inequality of the Jensen-Mercer type by using
majorization concept.
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Theorem 2.1. Suppose that ¢ is a real valued convex function on [ and e = (e1,...,en), X = (X1,...,Xm), ¥ =
(Y1, .-+, Ym) are three m-tuples such that ej, x;, y; € 1, x; # yj forall j€ {1,--- ,m}. If x < eandy < e, then

(ief mzl( )) Zd)(ej)—nfyjixjfx/%qb(u)du

=1 j=1

(11)

Proof. Lett € [0,1], then we may write

(ie] (S 1(x]+y;))

_¢(Ze] Z(txj+(1—t)yj—£tyj+(1—t)xj)). (12)

In order to apply Theorem 1.6 in (12), first we show that e majorizes r and z, where r = (r,--- , 1),
z=(z1,- zm) ri=txj+(1- t)y] andz; =ty;+(1-t)xjforj=1,2,...,m

g

For this, let Z x(j] = P and Z yij)=Px, for k=1,---,m—1. Then
]_

k k k
Z g = i’Z xp) + 1-1) Z Y = tPu + (1= 1)Box. (13)
j=1 j=1 j=1
k k k k
Since x < eand y < e, therefore by definition of majorization, we have }’ xjj < Z efj] and Z v < Z efjl i.e.
j=1
k
Bix < Z erjl (14)
j=1
and
k
Pk < Z ejl- (15)
j=1

Multiplying (14) by t and (15) by 1 — t and then adding the resulting inequalities, we get

k
thik + (1 = £)Bax < Z erjl- (16)
j=1

Now using (13) in (16), we have

irf=fzxj+(1—t)2yj~ (17)
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m

But Z ej = Z, xj and Z ej = ). yj, therefore from (17) we have
=1 =1 =1 =1

m m

I’j = €j.

=1

Jj=1 j

473

Hence, r < e. Similarly we can show that z < e. Therefore, using Theorem 1.6 in (12) for the case of n = 2

and wy = wy = %, we obtain

j=1 j=1
m—1
m ;1 ((P ((txj + (1= tyy;) + plty; + (1 - t)xf))
<Y e - = > .
j=1
Now, integration of (18) with respect to ¢, gives
m m=1 Xi+y;
qb( o N (MY )
WM
m m=1 1
<Y e - %Z fo (cp ((bx; + (1 = b)) + bty + (1~ t)xj))dt
j=1 j=1

Since

1 1 1
fo o (0% + (1 - By, ) dt = fo 0y + (L= Dt =

Therefore, using (20) in (19), we get the left inequality in (11).
To obtain the right inequality in (11), we know from Hermite-Hadamard inequality that

f d(u)du < ¢(‘9+ 9)

Replacmg 9, 0 by x, y; respectively and summing both sides over j =1,--- ,m — 1, we get
m=1 i m=1
1 fyf Xjty;
- d)du < - qb(—)
;‘ Yi= ¥ Jy ;‘ 2

Adding )| ¢(e)) to both sides of (22), we deduce the right inequality in (11). O
j=1

(18)

(19)

(20)

(21)

(22)

Remark 2.2. In the above theorem, if x; = y; for all j € {1,2,...,m} then by following the proof of Theorem 2.1, we

obtain
qb( 21 ¢ - m: x ) Z o)) - Zl 9(x)).
Ifx; = yj}or some]]’, then (11) reduces to the form
¢(§ef - ?Zi (22 )) qu(e,) pRCDW

whereI:{je{l,Z,...,m}:szy]-}andlcz{ ,2,...,m}\ L
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Theorem 2.3. If all the hypotheses of Theorem 2.1 are valid and x,, # Y, then

j=1 j=1 Y. (yj—x)) L %i j=1
j=1
m 1
< ]Z; ZORE {Z o) + ]Z; o) }
Proof. Clearly,
m m—1 .'X'] + y] 1 m m=1 m m=1
¢ 291_ ( 5 ) =¢ E(Ze]_ x1+Ze]_ %)
j=1 j=1 j=1 j=1 j=1 j=1
By second condition of majorization, we have
m m—1
Z ej— Z Xj = Xp
j=1 j=1
and
m m=1
Z €= 2 Yi=Ym
j=1 j=1

m -1
Therefore ). e; — Z xj, Z ej — Z y; €L
j=1 j=1 =

474

(23)

(24)

(25)

(26)

Also, as x,; # Yy, so from (25) and (26), we get that Z X # E yj. Now, using Hermite-Hadamard inequality

=1 j=1
in (24), we obtain

(P(ie]

=1 j=1

m-1

|
h
o
-
—_
Ay
—_
N
|
=
<
SN—
+
—~~
—_
|
—
N

=)

| 1
3 5—
Jay [y
<
p— —_——
3
N
% |
A —~
N S .M
/%\ R
M§ +
—~
o [
I |
= =
N—
[
=
=
N —
N —
[
~

This completes the proof of the left inequality in (23).

(27)
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Now, we derive the right inequality in (23). Since x < e and y < e, that is all the hypotheses of Theorem
1.6 are satisfied for n = 2. Therefore using Theorem 1.6, for n = 2, w; =t and w, = 1 — f, we can write

m m=1
4)(2 e~ Z(txj +(1- t)y]'))

j=1 j=1
m m—1
< Y 0le) = )t + 1= o)
j=1 j=1
m m—1 m—1
= ) o) - (thb(x;) +(1- t>Z¢<y,)) (28)
j=1 j=1 j=1

Integration of (28) with respect to ¢, gives

m m—1
fl 5 [Z e - Z(txj +(1- t)yj)] dt
0 =1 j=1
m 1 m=1
< ; Ple) — f(; [t;cp(xj) +(1-1)

Using integration and change of variable we get the right inequality in (23). O

m—1

cp(yj)] dt. (29)

j=1

Remark 2.4. Following the suppositions of Theorem 2.1 and Theorem 2.3, if m = 2, then we get the following
inequalities which have been given in [25]:

1
oferea- 5 < e +gte) - o= [ ot
< plen) + pten) — o (L)
and
Y1
qb(e1 +ey — X1 ‘;yl) < " ixl ; ¢(e1+e—u)du
< len +9lea) — 5 0) + 9y (30)

We establish the following lemma which will help us to give our next generalized Hermite-Hadamard type
inequality.

Lemma 2.5. Assume that ¢ : I — R is a convex function and e = (e1,...,eu), p = (P1,...,Pm) are two m — tuples,

(xi) is a n X m real matrix such that e;, x;j € I, pj > 0 with p,, # 0 for all i,j and n = pi Also, w; > 0 for

n
i=1,2,...,nwith Y, w; = 1. If (X1, ..., Xii) is a decreasing m-tuple for each i = 1,2, ..., n, and satisfying
i=1

k k m m
ijxij < ijej fOT k=1,2,...,m-1, ijEj = ijx,-j,
j=1 j=1 =1 j=1

then

1 n 1 n

Z nw;p;p(xij). (31)

-
j=1 i=1

¢( Zm: npiej —

=1 j=1 i=1

Uwipjxif) < Z npjdle;) =
j=1
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Proof. 1t is evident that

m m=1 n
¢( Z npiej — Z Z Uwipjxij)
j=1

=1 i=1 =1 i=1 =1 i=1

I
©
—_
gk
=
=
)
=
|
=
S
3
=
~

IA
1=

S
=

=

KMS

=

\N

|

m m
Since ‘21 pjej = ‘21 pjxij foreachi=1,---,n, then we have
j= =

m 1

xin =1 Y piei = Y pyvi)

=1 =1

Using Theorem 1.3, for e, p and (xj1, ..., Xi) for eachi =1,2,...,n, we write
Y pidx) < ) piole)
=1 =1
m—1 m
= Y o) +pudlxin) < Y piole))
i=1 i=1
m m—1
= pubm) < ) pioe) = Y piolxi)
i=1 =1
m m—1
= i) < Y npjole) = ) pidixi)
=1 =1
Using (33) in (34), we obtain
m m—1 m m—1
qb(n( Y piei— prz’j)) < Y i) = Y npid(i)
=1 =1 =1 =1

From (32) and (35), we get (31). O

476

(32)

(33)

(34)

(35)

In the following theorems we prove Hermite-Hadamard inequalities of the Jensen-Mercer type for one

arbitrary and two monotonic tuples.

Theorem 2.6. Suppose that ¢ is a real valued convex function on [ and e = (e1,...,eyn), X = (X1,...,Xm), ¥ =
Wi -- o Ym) P = (P1,...,pm) are four m-tuples such that ej,x;,y; € I, x; # yj, pj = 0 with p,, # 0 for all

jell,...,mlandn = pim If x and y are decreasing m-tuples and

k

k k k
me]‘ < ZPM ZP]‘J/;' = ZPjeff‘?”k =1...m-1,
1 1 =1 =1

= = j
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then

m m=1
¢( Y pies-n Y (EESEY )) Z Mpjg(e) =1 Z i f P (u)du
=1

j=1
< ]2 npidle)) —n ; ijb(xj er Y ) (36)

Proof. Lett € [0,1], we have
m m—1
PiXi t PiYi
¢( ; npje; =1 ; (—2 ))

m=1 . —_ . . — .
(an]e] T]ZP](tx]+(1 t)y];rty]+(1 t)x]))' (37)

Letr = (ry,...,ry) and z = (z1,...,2,) Where r; = tx; + (1 — t)y; and z; = ty; + (1 - t)x; for ] =12,...,m
k
By similar idea as given in Theorem 2.1, we can show that r and z satisfy the conditions Z pjri < Z piej,
|

Z pjzj < Z pjejfork=1,2,...,m—1and Z pirji = Z piej, Z pjzj = Z pjej- Therefore, applying Lemma 2.5
j=1 j=1 j=1
in (37), we have

m m—1
piXj t piy
¢(anf€f—n (” ”))
j=1

=1

—.

m 1 m—1
pielej) = 51 Z (Pjﬁb(ij +(1=t)y;) + pip(ty; + (1 - f)xf))- (38)
j=1

=1

Integration of (38) with respect to ¢, delivers

m m=1
¢(Z wpjei =1 (%))

j=1 j=1
m=1

< Z npip(e;) — 17 Zp] f ( oltxj+ (11— t)y]-> + cp(tyj +(1- t)x]-))dt. (39)

=1

Since

1 1
fo ((tx; + (1= Byy;)dt = fo bty + (1= byx;)dt =

Using (40) in (39), we get the left inequality in (36).
Next we prove the right inequality in (36). For this, replace 9, 6 by x;, y; respectively in left inequality
of (10) and multiplying np;, we get

mww (40)

Yji—Xj

—npj
Yji—Xj

[ s o (52, )

Taking summation on both sides over j = 1,...,m — 1 and then adding }’ np;¢(e;) to both sides, we obtain
j=1

the right inequality in (36). O
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Remark 2.7. In the above theorem, if x; = y; for all j € {1,2,...,m} then by following the proof of Theorem 2.6, we
obtain

m=1 m m—1
(Z npje; =1 Z P]x]) Y npiote) = 1Y pio)).
=1 =1

If xj = y; for some j, then (36) reduces to the form
m m—1
PiXj + PjYj
¢( Y apes =Y (5 ))
j=1 j=1
Z npjp(e)) = Z npie(xj) =1 Z P]

jel jeIe

wherel ={j€{1,2,...,m}:x;=ytand I° ={1,2,... ,m} \ L.

Theorem 2.8. If all the hypotheses of Theorem 2.6 are valid and x,, # Y, then

m m=1
<P(Z npei =1y (%))
=1 =1

1 L. npjy; U

[
j=1

SIS | e
Zl(TTPJJ/J npix;) &
]:

m 1 m—1 m—1
<) i)~ 5 {Z npio) + ) | npf¢(yj)}- (42)
j=1 j=1 j=1

Proof. It can be observed that
m m=1
N piXj +PjYj
<P( Y apes =) (5 ))

=1 =1

1 m m=1 m m=1
= ¢(§( Y i = Y mpii+ Y npiei = npjyf))-

. - =

j=1 j=1 j=1
(43)

m
As ,lejeJ Z pjxjand Z pjej = Z pjyj, so we have
]:

,_.

m m—

Z npjej — Z NpjXj = Xm (44)

j=1

~.

and

._;

m m—

Z npiej = 2 PiYi = Ym- (45)
=1 =1
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m m—1 m m—1
Hence Y. nipjej — X npjxj, X npjej = L npjy; € I
j=1 j=1 j=1 j=1
m—1 m—1

Also, as X, # Ym so from (44) and (45), we get that ) npjx; # ). np;y;. Now using Hermite-Hadamard
j=1 j=1

inequality in right side of (43), we obtain

m m—1
¢( PIITREDY (%))
j=1 j=1
1 m m—1
< fo <¢>(f( Z npjej = Z f?ijf) +(1-1)
j=1 j=1

m -1

><( Y =) UPfyf))df
= =
1 m m—1
= fo ¢(Z =Y (fﬂpjxf +(1- t)Tij]’))dt
j=1 j=1
1 ;11 WY
= — ﬁ’l (p( Z npiej — u)du. (46)
El (pjyj —npjy) VETE

Thus the left inequality in (42) is proved.
Now, we prove the right inequality in (42). Using Lemma 2.5 for n = 2, w; = t and w, = 1 —t, we deduce

m m—=1
¢( Z npiej = Z (fnpfxf +(1- t)nPjyj))
=1 j

j=1
m m—1
<Y wiste) = Y (Epioa) + (1 - Dpo(w) 47)
j=1 j=1

Integration of (47) with respect to t, follows

1 m m—1
fo ¢( Z npiej = Z (“ijj +(1- t)nPfyf))df
=1 j

j=1
m m—1 1
< UP;‘P(EJ')—Z f (tnpj¢(xj)+(1—t)UPf¢(yj))df- (48)
j=1 j=1 Y0

Using integration and change of variable, we deduce the right inequality in (42).
For more results of Hermite-Hadamard inequality of the Jensen-Mercer type, we propose another lemma
which is given as follows:

Lemma 2.9. Assume that ¢ : I — R is a convex function and e = (e1,...,en), p = (P1,--.,Pm) be two m-tuples,
(xij) is a n X m real matrix such that ej, x;; € I, pj 2 0, py # 0 for all i,j, n = pim andw; 20 fori=1,2,...,n with

n
Y, w; = 1. If (ej — xij) and x;; are monotonic in the same sense for each i=1,...,n, and
i=1
m m
¥ =3
=1 i=1

]
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then
m m=1 n m m=1 n
¢(ane; Y nwinij) <Y npible) = ) ) iyl
j=1 j=1 i=1 j=1 j=1 i=1

Proof. Using Jensen’s inequality, we may write

m=1 n n m=1 n
(Z npjej = Z Z Usz;xu) = (Z npiej J_ wi— Uwipjxif)
j=1 i=1 i=1 j=1 i
Z wi ( ( Z pi¢j —
j=1

m m
As ), pjej = Y. pjxijforeachi=1,...,n,s0 we may write
=1 =

m m—1
xin =1 Y piei = Y pivi)
=1 =1
Since ¢ is convex. Therefore Va,b € I, we have
P(a) = p(b) = ¢, (b)(a - b).
For the selection a = ¢j and b = x;;, we can write
Plej) — P(xif) = @l (xij)(ej — xij).-
Multiplying (52) by p; and summing over j from 1 to m, we have
ZPJQD(EJ) ijﬂb xz]) 2 ij(ej xz])¢+ xz])
j=1
Using Cebysev’s inequality in right side of (53), we btain

m 1 m m
Y pite = x)gl (xy) Yopiej =) Y pidlxy)
=1 pj =t =

\%

M=

1

Il
o S

Using (54) in (53), we have
ZP@(Q‘) - ijgb(xij) >0
j=1 =1
m m—1
= Y piote) - Y pio) - pud(im) > 0
j=1 =1
m m—1
= Z pigle;) — Z PiP(xij) = pm(xXim)

m—1

= Z np]¢(€] Z UP1¢(XIJ > (P(xzm)

480

(49)

(50)

(51)

(52)

(53)

(54)

(55)
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Using (51) in (55), we obtain

m=1 m
Z npip(e)) Z npj¢(xij) = ( (Z piej —

From (56) and (50), we deduce (49). O

pixij )) (56)

Remark 2.10. It is important to note that (49) has been proved for separable sequences in [32].

The following theorems give generalized Hermite-Hadamard type inequalities by imposing relax condition
on weights.

Theorem 2.11. Suppose that ¢ is a real valued convex function on I and e = (e1,...,en), X = (X1,...,Xp),
y =W Yn) P = (p1,...,pm) are four m — tuples such that e;, x;,y; € I, x; # y;, pj = 0 with p,, # 0 for all
jell,..., miandn = pl If e —x, x, e — y and 'y are monotonic in the same sense and

Y piei=Y pixi Y.piei= Y. pivi
=1 =1 =1 =1
then
m m—1
qb(anfef—n (P b )) znp]¢(e])—nz b f )
= =1
<Y o) -n Y po (F=2) 57)
j=1 j=1

Proof. Since we know that the tuplesr = (r1,...,7,),z = (z1,...,2zn) Wherer; = tx;+(1-t)y;, z; = ty;+(1-t)x;,
e — rand e — zare monotonic in the same sense for ¥V t € [0, 1]. Therefore, using Lemma 2.9 and then adopting
the same procedure as given in the proof of Theorem 2.6, we obtain (57). O

Theorem 2.12. If all the hypotheses of Theorem 2.11 are valid and x,, # Y, then

m m—1
o w3 (P52
j=1 j=1

m=1

1 L
.Zl (pjyj — pix)) Z LR
j=
<Y i) -5 Z npio(x;) + Z P b - (58)
=1 =1

Proof. Using Lemma 2.9 and adopting the same procedure as given in the proof of Theorem 2.8, we obtain
(58). O

Remark 2.13. It may be noted that Theorem 2.1 and Theorem 2.3 have been proved for three m—tuples without
monotonicity conditions while Theorem 2.6 and Theorem 2.8 have been proved by considering a decreasing m—tuple
with non-negative weights. Moreover, Theorem 2.11 and Theorem 2.12 have been proved for monotonic m—tuples
with strict conditions of monotonicity and relax conditions on weights.

0

Now we present an illustrative example for our first main result.
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Example 2.14. Let a,b,c € R such that a > b > c. Suppose that e = (2a,2b,2c), x = (a + b,c +a,b + ¢) and
y=(@+ % +5b+5+5,5+ % + ¢) are three tuples. First, we show that x < e.
Clearly,a+b>c+a>b+c.

Asa >bandb > c therefore, we have

a+b<a+a=a+b<2a, and a+b+c+a=2a+b+c<2a+2b.

Also, a+b+c+a+b+c=2a+2b+2c.

Hence, x < e. Similarly, we can show that y < e.
Now, applying Theorem 2.1, for these tuples, we obtain

+b/2+c/2
(%) < ¢(2a) + P(2b) + P(20) - é f S o
2 b+a/2+c/2
Th—a—c f . P(u)du
< ¢(2a) + (2b) + p(2c) — ¢(4ﬂ + ib + C) B (p(w)

3. Conclusion

The Hermite-Hadamard inequality has been studied in several directions. It has been established for
different generalized convex functions such as n—convex [16], s—convex [17], coordinate convex [12] and
strongly convex function [30] etc. Several integral identities have been proved related to Hermite-Hadamard
inequality which provide several bounds for the difference of Hermite-Hadamard inequality. Also, many
applications have been presented for this inequality. In this article, we have initiated to link the results for
majorization and the Jensen-Mercer inequality with the Hermite-Hadamard inequality. We have obtained
generalized Hermite-Hadamard inequality using majorization without monotonicity conditions on the
tuples. By utilizing generalized results of the Jensen-Mercer type for certain monotonic tuples, we obtained
weighted generalized Hermite-Hadamard inequality. As particular cases we have deduced inequalities
obtained earlier. The idea adopted in this article may explore further research for Hermite-Hadamard
inequality.
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